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SU(3) symmetry based model
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Solution 1 Solution 2  Solution 3 Solution 4
the channels all channels  the channels
without isovector K"K with isovector all channels
E-M component  excluded E-M component
g| 2. 64+§ E% 2. 68*%1 é% (2. 68%(}% 2. 43+}§n§§}
8s 1237574 L1775 7% (—=1.3275 69 -1.23753%
gK 0.6879:3
Sg (0.27190:13) (0.2810-10 (0.75 £ 0.42)
cosbo —0.911012 0,92 +£0.07 —0.095+0.547 —0.8612-2¢
eo 1. 49+2 12 1. 49+§ ég (1. 49%(}%31 1. 44+gn1;3
Se 0.25% 075, 0.207 0753 (—0.5310 ¢ —0.2975 13
e. 1.54+0 aq
el 1.22+0.02 1. 221+3 g;;g 1.22 & 0.02
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Op (—18.7+58)y  (—225+L9ye  (—23.3+2.2)° (—24.1F21)°
r —0.24 +£0.06  —0.26 & 0.06 —0.3210-09
Sy 0.0(fixed) 0.0(fixed) —0.4210-2°
Sp 0.0(fixed) 0.0(fixed) 0.45 £ 0.70
X /Mo 4.63/5=0.93  8.29/10=0.83 3.07/4=0.77 13.2/11=1.20
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